AP Calculus BC — Unit 7 Extra Practice - fcb\’T toNS
7.1 — Extra Practice

7\ Write the first 5 terms of the sequence:
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Determine the convergence or divergence of the sequence with the given nth term. If the sequence converges, find its

limit:
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7.2 ~Extra Pr_actice

Find the sequence of partial sums Sy, S, Ss, and S..
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Verify that the infinite series diverges:
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Verify that the infinite series converges:
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#18b. Write the repeating decimal as a geometric
And write the sum of the series.as a fraction:
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Determine if the series is convergent or divergent:
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7.3 — Extra Practice

Confirm that the integral test applies, then use it to determine if the series converges or diverges.
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Confirm that the integral test applies, then use it to determine if the series converges or diverges.
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Explain why the integral test does not apply to the series.
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Use the p-series test to determine the convergence or divergence of the series.
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7.4 - Ektra Practice

Use the Direct Comparison Test to determine the convergénce or divergence of the series.
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Use the Limit Comparison Test to determine the convergence or divergence of the series,
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7.5 — Extra Practice

Determine the convergence or divergence of the series.
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‘Determine the convergence or divergence of the series.
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Determine the convergence or divergence of the series.
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Determine the convergence or divergence of the series.
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7.6 — Extra Practice

Determine whether the series converges absolutely, conditionally, or diverges.
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7.7 — Extra Practice
Simplify the expression fully.
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Use the Ratio Test to determine the convergence or divergence of the series.
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Use the Ratio Test to determine the convergence or divergence of the series.
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Use the Root Test to determine the convergence or divergence of the series.
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7.8 — Extra Practice
Approximate the sum of the series usirg the first 6 terms.
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